
Calculations of two integrals.

For problem by link:

https://www.linkedin.com/feed/update/urn:li:activity:6459729194510352384

* 1.  arctan 1  1x dx 
u  1;u  x

v  arctan 1  1x ;v  1
2x2  2x  1



xarctan 1  1x   xdx
2x2  2x  1



xarctan 1  1x  1
2
arctan2x  1  1

4
ln x2  x  1

2
 c and since

1  arctan 1  1
1

 0, lim
x0

x  arctan 1  1x  0, ln 12  1  1
2

 ln 02  0  1
2

 0,

arctan2  1  1  arctan2  0  1  
4

  
4

 
2
then 

0

1
arctan 1  1x dx   

4
;

2.  arctan 1
1  x

dx 
u  1;u  x

v  arctan 1
1  x

;v  1
x2  2x  2



xarctan 1
1  x

  xdx
x2  2x  2

 xarctan 1
1  x

 arctanx  1  1
2
lnx2  2x  2  c

and since 0  arctan 1
1  0

 0, lim
x1

x  arctan 1
1  x

 
2
,

arctan1  1  arctan0  1  
4
, ln12  2  1  2  ln02  2  0  2   ln2

then 
0

1
arctan 1

1  x
dx  

2
 
4

 ln2  
4

 ln2
2


